Hess’ Law
Calculate the AH for the reactions.
1. NO+O0—= NO;

203—3302- -427 k)
O2-3 20 495k)

NO+0Os — NO2+0O2 -~199 kJ

2. Cegraphite) = Cdiamond)
C(graphi{e) + OZ -2 COZ "'394kJ

Cddiamond) *+ O22C0O2  ~396kJ

3.5n +Cl;—2 sncl,
Sn+2Ch — SnCly -545.2 k)

SnCla+ Cla= snCls  -195.4 k)



4: N 20,—22NO,
N2# Oz —=> 2NO 180kJ

2NO + O,—=2 2NO,; -112kJ

5. 2Ca +2C + 30— 2CaCOs
2Ca+0; — 2C30 -127018 kJ
C+0y — CO» -39351k/

Ca0 + CO,—» CaCOs 17832 kJ

6. GHs(OH)z+ Ha02 ——  GH4O,+ 2H20q)
CsHa(OH)2—> GHiO2+ H2  177.4 k)
Ha+ 02— H,0, -191.2 k)
Ha+12 02— H0 -241.8k)

H20¢y ~———H,0 ~43.8kJ



